
 

46  

����� 4 
 

�HIH��	��G���	��H�	��#H�F 
 

���A�����e=�A�f��0��=
�k�	�������nB��/<����0�F�����0�����3��������	
�������
����	

3����������
�40�Ck�	���i��k�	f��00�C 3 ��������|��3	�4�F�������������0�Ck�	
�����0B�
3B=�4� ��4nB�dF���0����0�Ck�	iF��l/>���dF  

��e=�A�f��0��=��/C4
	��	������F@��nB����
��0��|��3	�4�F�����0�Cf-	f����0�F��f�
A��3	�0�C 4.1   ���k�	0�F��A�I@�;F������/�f����
���/�f
���2
����	
 f�A��3	�0�C 4.2  4����
�</������f-	�I��3@��>����0�0��4f���>i��
@��s0�Ck�	�</���k�	�@��A�	���=���A������
���/�f

f�������2��	
f�A��3	�0�C 4.3  ��4nB����0�F��i�@�-@����	
�����i��
@���eC���	���/<����f-	I@�
��
���>F�C��i>F�;F�����f�A��3	�0�C 4.4  iF��2�0	��Ie�A��3	� 4.5  �>?������2>��e=�0�=�A4�0�C
k�	�F@���</���f��0��= 

 
4.1  �	�M"#�%	g	
�����H����F 
 

f����0�F��k�	
��0��|��3	�4�F�����
����	
3�������������f����0�F��
�f-	
|��3	�4�F�	���/���������0�=�A4� 3	�4�F�������	
��
��0�C���0B�4���
������2@4
����@��3 16,000 
��/�
m1 3���I��4F������3��3	�4�F 16 �/
 iF����0B������0��f��l���i��F	�40�C�����f-	
k4�I��o��2@� SONY F-720 DYNAMIC iF����1�������2@� Creative Sound Blaster Audigy 
Platinum 
����� 1 
�� f�������0B������ 
�=�������A4e��F��EG�������k>f-	���
�/����i���
f���>0�C 4.1  

 

 
��>0�C 4.1 F��EG����
��
�=��2>��G1f�������0B�����������
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���A�����	
�����0�Ck�	���0B�k�	��4��ni�@����k�	�>?� ��	
���C��
�=�i
@��	

��0�C 1 nB� 
��	

��0�C 21 iF���	
d�4 A�e� ��	
i���;F��o�/� mBC���/�
����	
���
����4���
�=�i
@
��0�C 1 
nB���	

��0�C 21 ��44�-2�
����	
0�=��/=� 231 -2� ���f�i
@F�-2�
����0B�-2�F� 50 koF1����� 
��4�>?�koF1�����0�Cf-	0�=�A4� 11,550 koF1����� 

 

4.2  �	��#H�F�%	\�"������	�d���$	�H"FF	
��Fd
�	�C"#��
dM���RC"�W
�C  
 

���A������0�F��f����A�I@�;F������	���/�0�Cf-	f�������2
����	

����	
��=� k�	
0�F��������f-	|��3	�4�F�����0�=�A4�Ie� 11,550 koF1�����f����0�F��iF�;/
��G�
dFF�;<1�����	
��
����	
f�i
@F�koF1����� ���A�����	
�����0�C�>?�i����	
�;F��o�/� 0�C4�
����� 2 
��	
;�	�4�����=� dFF�;<10�Ck�	
�
	��n��
	��0�=� 2 
����	

B�
���4���k�	�@�������4��n���2
��
��	
k�	n��
	�� mBC�dFF�;<13�����0�F��i���k�	���f�
����0�C 4-1 iF� ��>0�C 4.2 

 


����0�C 4-1 ��
���gF�C�I��4n��
	��3�������	
��
����	
�4eC�f-	I@�;F������	���/�f����
���/�f

���2
����	
  

I@�;F������	���/�  
(Energy Threshold) 

��
���gF�C�I��4n��
	��3�������	
��
����	
 (%) 

0.80 92.89 
0.75 94.02 
0.70 94.79 
0.65 95.36 
0.60 95.84 
0.55 96.24 
0.50 96.53 
0.45 96.62 

0.40 96.27 
0.35 95.71 
0.30 95.19 
0.25 94.22 
0.20 92.78 
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��>0�C 4.2 id�l�4/i�����
���gF�C�I��4n��
	��3�������	
��
����	
�4eC�f-	I@�;F�����

�	���/�f����
���/�f
���2
����	
 
 


��dF���0�F��f�
����0�C 4-1iF�f���>0�C 4.2 i���fA	�Ay��@����f-	
������d@��
in�I��4n�C
�4I��4n�C4�F|��3����	
��
��iF����-��-�I��4��@�-��3��
����	
��=� ��4��n
���I@�dFF�;<10�Ck�	4��>?�I@�F��EG����I�.3�������f�������2
����	
3���������������k�	 ���
�4eC�0�F�����|��3	�4�F�����0�Ck�	
�����0B�k�	;��@� ������	
��
����	
3���������������
�40�C
k�	���i��k�	��=�fA	dF��
��I��4n��
	��3��
����	
����2����@0�C�	��F� 96.62 �4eC����A��I@�
;F������	���/�0�C 0.45  

 
4.3  �	��#H�F�%	\�"������	�d��W��F�$	�����	������d
�	�C"#��
dM���RC"�W
�C  

 
���A���f���G����0����������2
����	
�	������������I��3@��>����0�0��4�3	�4�

-@��f����
���/�f
��=�
���>?�0�C
�
	����������	��3	�4�F
����@���@�� ���f����0�F��
�k�	
i�@�|��3	�4�F����>?� 2 �@��Ie� |��3	�4�F0�Cf-	f����������� (Training Data) iF�
|��3	�4�F0�Cf-	f����0�������� (Testing Data) iF����A��oq��1-�����i>F�n@��0��3	�4�F 
(Activate Function) f�����������Ie� Hyperbolic tangent sigmoid (tansig) iF� 
Logarithmic sigmoid (logsig) ���0�C�F@���</���k�	f��0�@��A�	���= 

��eC��
���������I��3@��>����0�0��4f�i
@F�I��=�������A��I@�n@���=��A�����/C4
	� 
(Weight) 0�Ci
�
@�����mBC�
��@�dFfA	dFF�;<10�Ck�	i
�
@����� �����=�
B�k�	0�F��AF��sI��=��;eC�
F�I��4IF���IFeC��0�C��/�3B=� ���k�	dFF�;<13�����0�F��Ie���
��I��4i4@����f������	
�� ���
i���dFF�;<1f�
����0�C 4-2 nB�
����0�C 4-8 iF���>0�C 4.3 nB���>0�C 4.4 
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����0�C 4-2 I@���
��I��4n��
	�������	
��
����	
�4eC�0�F�����|��3	�4�F0�Cf-	f�����������
��	
��iF�f-	oq��1-�����i>F�n@��0��3	�4�Fi�� tansig 

I@���
��I��4n��
	�������	
��
����	
 (%) �4eC����A��
����� Neurons  f�-�=� hidden layer I��=�
0�C 5 10 15 20 25 30 35 40 
1 98.01 97.39 98.16 97.04 89.39 97.40 98.25 89.39 
2 98.11 97.30 97.63 98.13 97.90 97.66 97.44 97.45 
3 97.77 97.96 98.11 98.15 97.42 98.22 97.66 89.39 
4 98.04 98.25 97.90 97.80 98.22 89.39 97.75 98.23 
5 97.68 97.61 89.39 89.39 97.40 97.45 97.66 98.20 
6 97.96 97.71 89.39 97.97 97.80 97.56 97.71 96.36 
7 97.85 97.82 89.39 98.25 97.85 89.39 97.73 97.65 
8 97.73 97.44 98.16 98.25 89.39 97.90 97.37 96.87 
9 97.85 98.06 98.04 89.39 97.84 97.66 97.73 89.40 
10 97.96 97.80 97.30 98.03 98.25 97.99 98.10 97.87 

 


����0�C 4-3 I@���
��I��4n��
	�������	
��
����	
�4eC�0�F�����|��3	�4�F0�Cf-	f�����������
��	
��iF�f-	oq��1-�����i>F�n@��0��3	�4�Fi�� logsig 

I@���
��I��4n��
	�������	
��
����	
 (%) �4eC����A��
����� Neurons  f�-�=� hidden layer I��=�
0�C 5 10 15 20 25 30 35 40 
1 97.65 89.39 97.19 89.39 97.92 98.22 97.65 97.90 
2 89.39 97.71 97.71 97.82 97.63 97.13 98.04 97.45 
3 97.70 98.22 89.39 96.81 97.45 97.54 97.00 97.45 
4 97.56 97.56 89.39 97.84 97.94 97.77 89.39 97.65 
5 98.03 98.18 97.70 89.39 97.11 97.33 97.37 89.39 
6 97.35 89.39 97.59 98.13 89.39 89.39 98.01 97.37 
7 97.65 97.77 91.45 98.20 97.54 89.39 97.80 98.06 
8 97.84 97.58 97.23 97.78 98.08 98.25 89.39 97.68 
9 97.40 97.56 97.75 97.28 98.18 97.80 97.21 97.70 
10 97.68 97.68 97.52 98.06 95.41 89.39 89.39 97.39 
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����0�C 4-4 I@���
��I��4n��
	�������	
��
����	
�4eC�0�F�����|��3	�4�F0�Cf-	�g;��0����
������	
��iF�f-	oq��1-�����i>F�n@��0��3	�4�Fi�� tansig 

I@���
��I��4n��
	�������	
��
����	
 (%) �4eC����A��
����� Neurons  f�-�=� hidden layer I��=�
0�C 5 10 15 20 25 30 35 40 
1 97.84 97.25 98.06 97.07 89.33 97.33 98.16 89.33 
2 98.06 97.30 97.51 97.85 97.84 97.58 97.26 97.33 
3 97.61 97.82 98.08 98.06 97.28 98.18 97.42 89.33 
4 97.96 98.10 97.97 97.63 98.10 89.33 97.63 98.13 
5 97.54 97.42 89.33 89.33 97.28 97.39 97.51 98.08 
6 97.84 97.63 89.33 97.96 97.59 97.40 97.65 96.47 
7 97.89 97.75 89.33 98.10 97.52 89.33 97.65 97.54 
8 97.58 97.33 98.10 98.23 89.33 97.78 97.49 96.80 
9 97.89 97.99 97.89 89.33 97.73 97.77 97.51 89.32 
10 97.85 97.82 97.37 97.85 98.04 97.94 97.89 97.73 

 


����0�C 4-5 I@���
��I��4n��
	�������	
��
����	
�4eC�0�F�����|��3	�4�F0�Cf-	�g;��0����
������	
��iF�f-	oq��1-�����i>F�n@��0��3	�4�Fi�� logsig 

I@���
��I��4n��
	�������	
��
����	
 (%) �4eC����A��
����� Neurons  f�-�=� hidden layer I��=�
0�C 5 10 15 20 25 30 35 40 
1 97.66 89.33 97.11 89.33 97.75 98.11 97.58 97.82 
2 89.33 97.75 97.52 97.73 97.49 97.04 97.97 97.45 
3 97.42 98.13 89.33 96.81 97.32 97.52 96.94 97.44 
4 97.58 97.42 89.33 97.89 97.85 97.68 89.33 97.35 
5 97.84 98.01 97.65 89.33 96.78 97.21 97.35 89.33 
6 97.30 89.33 97.56 98.15 89.33 89.33 97.70 97.25 
7 97.68 97.71 91.34 98.15 97.39 89.33 97.70 97.94 
8 97.73 97.35 97.14 97.54 97.89 98.20 89.33 97.44 
9 97.59 97.35 97.52 97.25 98.13 97.73 97.18 97.68 
10 97.66 97.63 97.49 97.92 95.55 89.33 89.33 97.35 
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����0�C 4-6 I@���
��I��4n��
	�������	
��
����	
�4eC�0�F�����|��3	�4�F�����0�Cf-	f�������
����iF�|��3	�4�F0�Cf-	�g;��0����������	
��iF�f-	oq��1-�����i>F�n@��0��
3	�4�Fi�� tansig 

I@���
��I��4n��
	�������	
��
����	
 (%) �4eC����A��
����� Neurons  f�-�=� hidden layer I��=�
0�C 5 10 15 20 25 30 35 40 
1 97.92 97.32 98.11 97.06 89.36 97.37 98.21 89.36 
2 98.09 97.30 97.57 97.99 97.87 97.62 97.35 97.39 
3 97.69 97.89 98.10 98.10 97.35 98.20 97.54 89.36 
4 98.00 98.17 97.94 97.71 98.16 89.36 97.69 98.18 
5 97.61 97.52 89.36 89.36 97.34 97.42 97.58 98.14 
6 97.90 97.67 89.36 97.97 97.70 97.48 97.68 96.42 
7 97.87 97.78 89.36 98.17 97.69 89.36 97.69 97.59 
8 97.65 97.39 98.13 98.24 89.36 97.84 97.43 96.83 
9 97.87 98.03 97.97 89.36 97.78 97.71 97.62 89.36 
10 97.90 97.81 97.33 97.94 98.15 97.97 97.99 97.80 
 

����0�C 4-7 I@���
��I��4n��
	�������	
��
����	
�4eC�0�F�����|��3	�4�F�����0�Cf-	f�������

����iF�|��3	�4�F0�Cf-	�g;��0����������	
��iF�f-	oq��1-�����i>F�n@��0��
3	�4�Fi�� logsig 

I@���
��I��4n��
	�������	
��
����	
 (%) �4eC����A��
����� Neurons  f�-�=� hidden layer I��=�
0�C 5 10 15 20 25 30 35 40 
1 97.65 89.36 97.15 89.36 97.84 98.16 97.61 97.86 
2 89.36 97.73 97.62 97.77 97.56 97.08 98.01 97.45 
3 97.56 98.17 89.36 96.81 97.39 97.53 96.97 97.45 
4 97.57 97.49 89.36 97.86 97.90 97.72 89.36 97.50 
5 97.93 98.10 97.67 89.36 96.94 97.27 97.36 89.36 
6 97.32 89.36 97.58 98.14 89.36 89.36 97.85 97.31 
7 97.66 97.74 91.39 98.17 97.46 89.36 97.75 98.00 
8 97.78 97.46 97.19 97.66 97.98 98.23 89.36 97.56 
9 97.50 97.45 97.64 97.26 98.16 97.77 97.19 97.69 
10 97.67 97.65 97.51 97.99 95.48 89.36 89.36 97.37 
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����0�C 4-8 ��
��I��4n��
	�������	
��
����	
����2�f�i
@F���G��4eC�0�F�����|��3	�4�F�����0�C
f-	f�����������iF�3	�4�F0�Cf-	�g;��0����������	
�� 

 ��
��I��4n��
	�������	
��
����	
(%) �4eC����A��
����� Neurons f�-�=� hidden layer Activate 
Function 5 10 15 20 25 30 35 40 

tansig 98.09 98.17 98.13 98.24* 98.16 98.20 98.21 98.18 
logsig 97.93 98.17 97.67 98.17 98.16 98.23 98.01 98.00 

 

Average Accuracy (Tansig)

98.00

98.05

98.10

98.15

98.20

98.25

98.30

5 10 15 20 25 30 35 40

Neurons

A
c
c
u
ra

c
y
(%

)

 
��>0�C 4.3 id�l�4/i�����
��I��4n��
	�������	
��
����	
����2��4eC�0�F�����|��3	�4�F�����0�Cf-	

f�����������iF�3	�4�F0�Cf-	�g;��0����������	
��iF�f-	 Activate Function 
i�� tansig  

 

Average Accuracy (Logsig)

97.20

97.40

97.60

97.80

98.00

98.20

98.40

5 10 15 20 25 30 35 40

Neurons

A
c
c
u
ra

c
y
 (
%

)

 
��>0�C 4.4 id�l�4/i�����
��I��4n��
	�������	
��
����	
����2��4eC�0�F�����|��3	�4�F�����0�Cf-	

f�����������iF�3	�4�F0�Cf-	�g;��0����������	
��iF�f-	 Activate Function 
i�� logsig 
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��dF���0�F��f�
����0�C 4-8 i���fA	�Ay��@����f-	�I��3@��>����0�0��4�3	�4�
-@��f����
���/�f
���2
����	
��=���4��n-@��fA	���
���/�f
4�I��4n��
	��k�	4���/C�3B=� ���
�4eC�0�F�����|��3	�4�F�����0�=�A4�;��@� I@���
��I��4n��
	��3��
����	
����2����@0�C�	��F� 
98.24 �4eC����A��
����� Neurons f�-�=� hidden layer 4�I@��0@���� 20 iF�f-	oq��1-�����i>F�
n@��0��3	�4�Fi�� tansig 

�4eC�;/
��G��>�����0���;��@����f-	�I��3@��>����0�0��4�3	�4�-@��f����
���/�f

���2
����	
��=�0��fA	I@���
��I��4n��
	��0�C4��0�C�2��;/C43B=��	��F� 1.62 
��I@���
��I��4
n��
	��0�C4��0�C�2��	��F� 96.62 �4eC�f-	;F������	���/� mBC�
����
��I��4n��
	��0�C�;/C43B=���=
�
-@��0��fA	I@�I��4d/�;F��f�������2
����	
F�F�
����/4nB��	��F� 47.93 

 
4.4  �	��#H�F�%	\�"������	�I�$F�$�FW
�C����FI��C$��
���F#��������	�d���$	�"C�	

��H���
I�HF�H"FF	
 
 

���A������0�F��f����i�@�-@��
����	
i��
@���eC���	���/<����f-	I@���
�����
�>F�C��i>F�;F�������=�
�40�Ck�	����k�	f�A��3	�0�C 3.7 k�	0�F�����k�	
��0��|��3	�4�F�����
���A���0�F���;/C43B=�4����|��3	�4�F0�Cf-	f����0������=
�4�0�=�A4� 42 koF1�����
��-2���	

0�=�A4� 21 ��	
 mBC����A��iF�
��i����>i��k�	Ie�  

1. �I��i��4�-@���@����A�@����	
i
@F�
�� (Space) 4�����A@����A�@��
����	
>��4�G
Ie� 1.5 - 2.0 �/��0� iF�i��
@���eC��4�����A@����A�@��
����	
>��4�GIe� 0.2 x 
0.4 �/��0� ���f�i
@F�i��
�4�
����� 21 koF1�����
�4
�����
����	
 

2. �I����	
�����i
@F�
����	
�>?�
����� 50 I��=�f�i
@F�koF1����� 
3. 4������I��4���3�������0�Ci
�
@����� 

���A������0�F��k�	0�F��������A��I@���
������>F�C��i>F�;F������	���/�0�Cf-	f�
���i�@�-@��
����	
f������I@�
@��s��� mBC�f����0�F��
�4�
����	
0�=�A4� 1,050 
����	
 
���A���dFF�;<13��
����	
0�Ck�	
�����i�@�-@��
����	
k�	i���k�	f�
����0�C 4-9
����0�C 4-10  
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����0�C 4-9 dFF�;<13�����i�@�-@��
����	
i��0�C4�-@���@����A�@����	
i
@F�
�� 


�����
����	
0�Ck�	�4eC����A��I@���
������>F�C��i>F�;F������	���/� 
��
��	
0�C 0.0 0.5 1.0 1.5 2.0 2.5 3.0 3.5 4.0 4.5 5.0 

1 777 50 50 50 50 48 45 42 41 39 39 
2 722 50 50 50 50 50 50 50 48 48 47 
3 690 50 50 49 48 48 48 45 43 40 36 
4 761 50 49 47 44 41 39 36 30 24 21 
5 662 50 50 50 50 50 50 49 48 48 45 
6 733 50 50 50 50 50 50 50 47 47 46 
7 732 52 50 50 50 50 50 50 50 50 50 
8 613 50 50 50 50 50 50 50 50 50 50 
9 692 50 50 50 50 50 50 50 50 50 50 
10 692 50 50 50 50 50 50 50 50 50 50 
11 753 50 50 50 50 50 49 49 48 48 47 
12 772 50 50 49 49 42 37 33 30 23 19 
13 795 50 50 50 50 50 50 50 50 50 48 
14 698 50 50 50 50 50 50 50 50 50 50 
15 833 50 50 50 50 50 50 50 50 50 50 
16 916 50 50 49 48 48 44 43 39 33 31 
17 753 50 50 49 49 47 45 43 40 35 34 
18 730 50 49 49 48 43 38 36 33 31 29 
19 696 50 50 50 50 50 50 50 50 49 49 
20 791 50 50 50 50 50 50 50 49 48 47 
21 719 50 50 50 50 50 50 50 50 50 50 
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����0�C 4-10 dFF�;<13�����i�@�-@��
����	
i��0�C�I��
@���eC�� 


�����
����	
0�Ck�	�4eC����A��I@���
������>F�C��i>F�;F������	���/� 
��
��	
0�C 0.0 0.5 1.0 1.5 2.0 2.5 3.0 3.5 4.0 4.5 5.0 

1 79 47 47 46 46 45 44 42 38 38 36 
2 62 49 49 49 49 48 48 48 47 47 43 
3 146 49 49 49 49 47 46 43 41 36 32 
4 121 50 50 47 40 35 32 26 24 18 15 
5 125 50 50 50 49 48 46 43 39 34 33 
6 145 50 50 50 50 49 48 47 47 45 41 
7 116 52 50 50 50 50 50 50 50 49 49 
8 73 50 50 50 50 50 50 50 50 50 50 
9 84 50 50 50 50 50 50 50 50 50 50 
10 83 50 50 50 50 50 50 50 50 50 50 
11 67 50 50 50 50 50 50 50 50 50 50 
12 110 50 50 49 47 42 37 35 30 24 20 
13 60 50 50 50 50 50 49 49 49 49 48 
14 57 50 50 50 50 50 50 50 50 49 49 
15 56 50 50 50 50 50 50 50 50 50 50 
16 105 50 49 49 47 47 44 43 39 37 32 
17 61 49 49 49 49 47 45 43 38 34 31 
18 68 50 49 49 49 48 47 43 43 40 34 
19 64 50 50 50 50 50 50 50 50 50 49 
20 85 50 50 50 49 49 49 49 48 48 44 
21 83 50 50 50 50 50 50 50 50 50 50 
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����	
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;F������	���/� 

�����
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0�CIF���IFeC�� 

�	��F�3�� 
I��4IF���IFeC�� 

0.0 15,530 1,479.05 
0.5 2 0.19 
1.0 2 0.19 
1.5 8 0.76 
2.0 14 1.33 
2.5 33 3.14 
3.0 55 5.24 
3.5 74 7.05 
4.0 104 9.90 
4.5 137 13.05 
5.0 162 15.43 
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0�CIF���IFeC�� 

�	��F�3�� 
I��4IF���IFeC�� 

0.0 1,850 176.19 
0.5 8 0.76 
1.0 8 0.76 
1.5 13 1.24 
2.0 26 2.48 
2.5 45 4.29 
3.0 65 6.19 
3.5 89 8.48 
4.0 117 11.14 
4.5 152 14.48 
5.0 194 18.48 
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����0�C 4-11 i���fA	�Ay��@�dFF�;<13�����f-	I@���
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�>F�C��i>F�;F�����0�C�A4���4���A������i�@�-@��
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����	
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����	
mBC�I/��>?��	��F� 0.19 3��
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0�Cf-	f����
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�� 1,050 
����	
 mBC�I/��>?��	��F� 0.76 3��
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0�Cf-	f����0�F�� 


��dF���0�F��f� 
����0�C 4-11 
����0�C 4-12 ;��@�I@���
������>F�C��i>F�
;F�����0�C�A4���4���A���3	�4�F0�C0����Ie� 0.5 iF� 1.0 
B�k�	���dFF�;<10�Ck�	
�����i�@�-@��

����	
����F@��4�0����A�I@�I��4n��
	��f�������2
����	
 ���i���f�
����0�C 4-13 iF� 


����0�C 4-14 


����0�C 4-13 I@�I��4n��
	��3��������2
����	
0�Ck�	���i�@�-@��
����	
i��0�C4�-@���@����A�@��
��	
i
@F�
�� 

I@���
�����
�>F�C��i>F�;F����� 


�����
����	
0�Ck�	

��i�@�-@��
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����	
0�C���2k�	
n��
	�� 

�	��F�I��4n��
	��
3��������2
����	
 

0.5 1052 1050 99.81 
1.0 1048 1047 99.90 
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0�Ck�	���i�@�-@��
����	
i��0�C�I��
@���eC�� 

I@���
�����
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�	��F�I��4n��
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3��������2
����	
 

0.5 1046 1043 99.71 
1.0 1042 1039 99.71 
 
��eC��
��f�����F@���������0�C�k>�@��fA.@iF	��/�4�F@���	
I�@i>��>?�AF�� �����=�
B�

k�	0�F�����i�@�-@��
����	
iF����2
����	
������A��I@���
������>F�C��i>F�;F��������0�C
�F@��k�	iF	�3	��
	�Ie� 0.5 iF� 1.0 0�=���=k�	���0B��������	
I�@i>�3����������mBC�4�k�	0�=�A4� 
14 I�@��������f�i
@F�koF1�����
�4�
�������	
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 ��4�>?�
�������	
0�=�A4� 700 
��
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�;eC�f-	f����0���� mBC�k�	dF���0�F�����i���f�
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����0�C 4-15 I@�IF���IFeC��3�����i�@�-@��
����	
I�@i>� 

I@���
�����
�>F�C��i>F�;F����� 


�����
����	
0�Ck�	

��i�@�-@��
����	
 


�����
����	
 
0�CIF���IFeC�� 

�	��F�3�� 
I��4IF���IFeC�� 

0.5 709 9 1.27 
1.0 702 2 0.29 
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0.5 709 704 99.29 
1.0 702 702 100.00 
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0�Ci�@�k�	4�I��4d/�;F����/�3B=� 
����@���-@� f���G����0�F�����f-	I@���
�����
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I�@i>����A�����	
F�����0�C 8 iF�F�����0�C 15 ��=�
4����i�@�-@��
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�����>0�C 4.5, ��>0�C 4.6, ��>0�C 4.7 iF���>0�C 4.8 

 

 
��>0�C 4.5 
����	
I�@i>����A�����	
F�����0�C 8 iF�F�����0�C 15 
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��>0�C 4.6 ��	
�@��0�CA�BC�0�Ck�	
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����	
I�@i>����A�����	
F�����0�C 8 iF�F�����0�C 15 
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��>0�C 4.8 l�;3������F��������	
�@��0�C���0�C
�����i�@�-@��
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I�@i>����A�����	
f�

F�����0�C 8 iF�F�����0�C 15 

 
 �4eC�;/
��G����F������dF�����	
��;��@���	
f�i
@F��o�4�@�� 10 ������i��3����	

0�=�����@��k�	dFF�;<1���i���f�
����0�C 4-17 

 


����0�C 4-17 ���F�������o�4�@�� 10 ������i��0�Ck�	
�����i�@�-@��
����	
F�����0�C 8 iF� 
��	
F�����0�C 15 

��	
�@��0�C 1 ��	
�@��0�C 2  
F������o�4�@�� ��	
4e�m	�� ��	
4e�3�� ��	
4e�m	�� ��	
4e�3�� 

1 8 15 8 15 
2 8 15 8 15 
3 8 15 8 15 
4 8 15 8 0 
5 8 15 8 0 
6 8 15 8 0 
7 8 15 8 0 
8 8 15 8 0 
9 1 15 8 0 
 10 9 15 8 0 
11 1 0 8 0 
12 20 0 8 0 
13 20 0 8 0 
14 20 0 8 0 
15 20 0 8 0 
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